Tell whether the assertions are T or F. (To improve your study, try to write a short justification for each answer). 

In the test, TF without justification => in order to make the expected value of a random answer equal to 0, you’ll lose for a wrong answer as much as you’ll get for a correct one. Thus, you should only answer if you’re fairly sure.
1.Changes in inflation tend to lead to changes in nominal interest rates of the same extent. 

2. According to the theory of inflation presented in the lectures, the change in inflation is a mere function of the gap between the actual unemployment rate and the natural rate of unemployment.

3.Uncertain inflation leads to uncertain business profits.

4. Everything else constant, a significant decline in the price of a good produced by a certain industry leads to a significant reduction in the nominal incomes distributed by that industry.

5. The expectation of falling prices reduces the incentives of firms to invest with bank credit but not with internal funds.

6. The logic of Irving Fischer’s recessive spiral remains valid if real output falls and the level of prices remains constant.
7. Whenever a bank loan is repaid by a business, household or the state, the means of payment in the economy diminish.

8. Everything else the same, the higher the level of CB interest rates, the smaller is banks’ capacity to create money.

9. Within the AD-AS model of our lectures, start with output at YN and inflation at the target. When, as a result of an increase in AD above YN, inflation rises by 1 percentage point, an inflation-targeting Central Bank responds by raising nominal interest rates by one full percentage point.

10. The declines in prices during the Great Depression led to transfers of wealth in real terms, which had a negative effect on demand.

11. The alternative policy framework would eliminate the changes over time of the real interest payments imposed by loans.
12.Start with zero inflation. Increases in demand to levels close to full capacity do not lead businesses to raise the unit margin of prices over unit variable costs, but lead to larger profits.

13. Everything else constant, an increase of 30% in the stock price of a company lowers the incentive of the company to invest.

14. If they are rational and don´t intend to leave bequests, consumers spread a sudden big increase in wealth on consumption and housing expenditures over the remaining years they expect to live.

15. Suppose there’s no circulation and that there is a single bank in a closed economy. When that bank grants new credits totaling $100 billion during one month, it needs to acquire exactly $1 million of reserves. Note: R/Dep = 1%.

16. According to the theory of inflation presented in the lectures, an unemployment rate below the natural rate makes unit total costs rise this year by more than they did last year.
17. The only objective of an exchange rate anchor is to reduce the inflation rate of the country that adopts it.

18. An increase in the budget deficit leads not only to a rise in public debt but to an acceleration the percent increase of that debt.

19. Massive sales of a stock drive its price down in the secondary market. Massive short sales of that stock have the same effect.

20. When, as a result of massive sales of a bond, their prices fall in the secondary market, the coupon payment of that bond rises.

21. An exchange rate anchor tends to boost a country’s competitiveness.

22. An exchange rate anchor tends to boost a country’s employment.

23. Ceteris paribus, a budget deficit funded through the sales of TBs to domestic banks increases the money stock of the country.

24. Ceteris paribus, a budget deficit of (say) Argentina funded through the sales of dollar-denominated TBs to foreign banks increases the money stock of the country.

25. Consider fixed exchange rates, and start from FE and a TB equilibrium. An argentine expansionary FP funded through the sales of dollar-denominated TBs to foreign banks will cause an increase in inflation next year.

26. Consider fixed exchange rates, and start from FE and a TB equilibrium. An expansionary FP funded through the sales of TBs to the domestic banks will cause an increase in inflation next year.

27. Ceteris paribus, a budget deficit funded through the sales of TBs to the domestic banks increases the monetary base of the country.

28. Ceteris paribus, an Argentina’s budget deficit funded through the sales of dollar-denominated TBs to foreign banks increases the monetary base of the country.

29. If the CB of a high-inflation country sets its interest rate above that of the CB of a low inflation country to which it pegs its currency, the high-inflation country’s treasury bills will be attractive enough to International Financial Investors.
30. Even if QE does not lower long-term rates, it may boost AD.

31. When the risk premium of long-term bonds is high, high risk-averse corporations do not issue such bonds.

32. Unusually high SP500’s prices compared with the average profits of the previous 10 years tend to lead to unusually low SP500’s prices compared with future profits over the next 10 years.

33. Depending on the circumstances, the Shiller CAPE500 may be a better or a worse measure of overvaluation/undervaluation of SP500 stocks than the simple P-to-E ratio.

34. An increase in the budget deficit leads not only to a rise in public debt but to an acceleration the absolute increase of that debt.

35. If it is not effective, QE expands the quantity of money.

36. Even if it is not effect, QE expands the monetary base.

37. A high-inflation country which pegs its currency to the currency of a country with low inflation must then on take into account the existence of IFI when setting its interest rates.

38. Consider a country with fixed rates that over a few years has been funding its trade deficit with foreign currency reserves of its CB. The number of future years during which the country may keep on having deficits depends crucially on the amount of reserves of foreign currency held by its CB.

39. The fact that the reduction in inflation following the implementation of an exchange rate anchor takes a few years makes the slowdown in the growth of nominal wages and profits also occur over a period of a few years. This so being, this gradual slowdown cannot be responsible for the only gradual decline in inflation following the implementation of an exchange rate anchor.

40. If a massive sell-off of government bonds in the secondary market leads to a rise in their interest rates, it will not lead to an instantaneous increase in government interest payments. 

